
10dB C2C Channel With Impairments

Rick Rabinovich

July 10th, 2019



Page

C2C Channel With Impairments
Example Channel with Impairments (Obstacles)
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• 10 dB C2C channel

• Two-channel adaptation with AC coupling (~ connector)

• Dielectric similar to Megtron 7 (6.75” long)

• “Engineered” Channel

• Impairments:

• Impedance tolerance

• Znom ~ 94 ohms

• ASIC breakout 

• Long and short via stripline mix

• 105 mils (0.5 dB/via)

• 22 mils (0.4 dB/via)

• Six 90o turns

• Asymmetric via distribution along the route

• Routing on grid
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C2C Channel With Impairments
TDR – Engineered Channel
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IL/RL
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Common Mode Conversion
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FEXT/NEXT
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C2C Channel With Impairments
COM C2C rev. 2.7 Results
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1 FEXT, 1 NEXT
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C2C Channel With Impairments
COM C2C rev. 2.7 Results
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3 FEXT, 4 NEXT
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Q & A
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C2C Channel With Impairments
COM C2C Configuration Sheet
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